
Kettenrechungen 

• Nimm Farbstifte 

•Male die Zahlen mit der gleichen Farbe an,  

  die eine Zehnerzahl geben 

5 + 5 + 6 + 3 + 4 = ___ 

7 + 8 + 2 + 3 + 1  = ___ 

2 + 5 + 8 + 9 + 5 = ___ 

 1 + 2 + 3 + 9 + 7 = ___ 

15 +  5 +  16 +   3 +  4  = ___ 

  7 +  8 + 22 + 13 +   6  = ___ 

12 + 15 +    8 +  9 + 15  = ___ 

 41 +  4 +  16 +  9 +   3  = ___ 

  8 +  1 + 3 + 15 +  7 + 11 + 19 + 5 + 2 = ___ 

26 + 5 + 4 + 25 + 1  +  9 +  6 = ___ 

50 – 5 – 4 -5 -6 = ___ 

30 –  1 – 1 – 9 -9 -1 = ___ 

70 – 12 – 4 – 8 – 7 – 6 = __ 

 

13 +  17 +  16 +   11 +  4 + 9  = ___ 

  1 +  28 + 2 + 13 +   27 + 9 + 2 + 2 + 2 +2  = ___ 

23 + 15 +    7 +  22 + 15 +8   = ___ 

 66 +  4 +  16 +  14 +   13  = ___ 
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Lösung: Kettenrechungen 

• Nimm Farbstifte 

•Male die Zahlen mit der gleichen Farbe an,  

  die eine Zehnerzahl geben 

5 + 5 + 6 + 3 + 4 = 23 

7 + 8 + 2 + 3 + 1  = 21 

2 + 5 + 8 + 9 + 5 = 29 

 1 + 2 + 3 + 9 + 7 = 22 

15 +  5 +  16 +   3 +  4  = 43 

  7 +  8 + 22 + 13 +   6  = 56 

12 + 15 +    8 +  9 + 15  = 59 

 41 +  4 +  16 +  9 +   3  = 73 

  8 +  1 + 3 + 15 +  7 + 11 + 19 + 5 + 2 = 71 

26 + 5 + 4 + 25 + 1  +  9 +  6 = 76 

50 – 5 – 4 -5 -6 = 30 

30 –  1 – 1 – 9 -9 -1 = 9 

70 – 12 – 4 – 8 – 7 – 6 = 33 

 

13 +  17 +  16 +   11 +  4 + 9  = 70 

  1 +  28 + 2 + 13 +   27 + 9 + 2 + 2 + 2 +2  = 78 

23 + 15 +    7 +  22 + 15 +8   = 90 

 66 +  4 +  16 +  14 +   13  = 113 
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